3 2
Y22 =2
x2—¢?

® a2
a’ +b? =x% +y?

OR]S S1

ol ?2'-1—1—_5”;]'2—/2 gl w=t
c2=x?-a?°l1l

R
2=y?-p?o|BER

X2 —a?—y2—p? ot}




2.

oS I 2 24 ABCD oA ACLDH € ff, x 9] Z9]
-stofzt,

i

_-18cm -
/, \
X \
! 12cm
]
B C
o 30x/ﬁcm ® 32x/ﬁcm 3 34x/ﬁcm
13@ 38131_3 1
@ 3613 cm @ 13 cm

AC= VIZZ+182 = /6% (4+9) = 6 VI3(cm)
12x18 =6 V13 x x

L 36VI3
13

(cm)




4
!
1
i
0v/6
\
\

10V6,

/
/

/

N
o S WA
ﬁelw_ﬁ_unb
~— N

oK g
T QRO
1_.1_._n N
N - o
FHE N
— B 5% W
o —
1rE7_|]O
71_|0Hm

< o
oo B oo

® V3:3

@\/3:2

D V2:2

® 3

V3

@ 2:

(10V6)? ©] 1L a® = 300
300

a>+a? =
A:a2:

V3

b:10V6 =2

2003

V3 : 2 ot}

x (20 V2)?

V3
4

* B=

202

w2tA, A : B =300 : 200 V3

b:




o5 oA §Ex]E2] Zdo]7t 6em 91 ¥ O
ol E¥1E 6 s=ot= A= 47 A, B, C, D, E,
F 2 gtet, o] o, A3t FE9] gol]& 5}
H? (AASH HEL AAOB + AFOE + ACOD
ojt}.)

® 243 cm? ® 1243 cm?
@ 12cm? @27x/§cm2
® 18V3cm?

B

AAOB £ Z0]7} 6em Q1 BAHZ ol n g

wW

AAOB = T><62 =93 (cm?)

weha] AR BLE o] Yol
9vV3 x 3 =273 (cm?) °]t}.




5. & 183 28 gABCD o4 AB = AD = 4cm, BC = 6cm, /C =

/D = 90° ol 7 A o4 BD o] el 49 22 H et @ o, AH
o o2 T5Hw?

D vV2cem @ +3cm @ 2cm

o
>
=
>
3
a
<
=
-,
ol
R
1o
M
o
o
ol
=)

C

I=2cm, AT = V16 -4 = 2V3(cm)
- DC = 2V3(cm)

BD = /62 + (2V3)2 = V48 = 4V3(cm)
B =AD °|E2 BH = HD = 2V3cm

/42 - (2v3)2 = 2(cm)




Z& vheel

e 193 2e AAzE v
q
wakslgr) go 2

@ V4080cm
@ V4083cm

&8

S|

pud

| ALz 4 9l

Zol A of 4
A% A2 S P2

_--22cm~ < _

~

\
10cm

//
B

@ +V4081cm ® +4082cm
@\/40840111

22cm

6cm|

16cml
\

\

16cm|
\

\

16cm|
\

\

6cm|

(ol AUzt e Ag]) = V222 + 602 = V4084(cm)

ool Ul & U A
2wsto] e e AH 4 B o




